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Economists usually represent incomplete information by assuming a fixed set of

types for each player. Each type has beliefs about states of the world and other

players’ types. Each mapping from a player’s types into beliefs over states of the

world and other players’ types are informally assumed to be common knowledge.
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�This approach is quite common in the literature. See, for example, Cremer and McLean

(1988).
�This topology is employed in this context by Mertens and Zamir (1985) and Lipman (2001).
�As in, for example, Geanakoplos and Polemarchakis (1982) and Rubinstein (1989).
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so the strategy distance between a pair of types is
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